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Solutions to smp-7596-3/NAML

Worksheet

Problem quickname: 7596

b

02/02/2020

Fill in the blank cells with the correct terms, as shown in the example. a and b stand

for a and b in (a + b)? or (a —

b)2. Hint: All numbers are positive.

formula | a | b | a2 | b 2ab expanded form
(S + 7“)2 s | r| s | r2 | 2sr=2rs r24+2rs+s2
(r—a)? | v | 4] | 16| 20d=sr r2—8r416

(104 )% | 10 | 2 | 100 | 2% | 2100=20z |  #2+202+100
(r—=6)2 | r|6|+ |36 2r6=12 12 —12r+36
(7“ — 8)2 rls| 2 | s 2rs=2rs r2—2rs+s2
(y — $)2 y | x| y? | 22 2yr=2zy 22 —2zy+y?
(144+7r)% | 14| | 196 | #2 | 214r=28 | 242874106
(r=72 | v 7| |19]| 27=14r | 12— 14r449
B=r) |3 |r| 9 || 23=6r 12 —6r+9

(S — T‘)2 s | r| s | r? 2sr=2rs r2—2rs+s?

2)

Fill in the blank cells with the correct terms, as shown in the example. a and b stand
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Solutions to smp-7596-3/NAML

for @ and b in (a 4 b)(a — b). Hint: All numbers are positive.

formula a | b| a® b? | expanded form
(Tr +58)(Tr —5s) | 7r | 5s | 492 | 255 4912 254>
(97 + 5s)(9r — bs) | 9r | 5s | 81r2 | 255 81122552
(107 + 9s)(10r — 9s) | 107 | 95 | 1007 | 81s 100728152
(6s 4 5r)(6s —5r) | 6s | 57 | 365> | 250 36522512
(Tr+3s)(Tr —3s) | 7r | 3s | 49r2 | 952 4972952
(dy +92)(4dy — 9x) | 4y | 92 | 16y> | 8la? 16y> 81>
(3r+4s)(3r —4s) | 3r | 4s | 92 | 165 9r2 1652
(9r +8s)(9r — 8s) | 9r | 8s | 8112 | 645> 8172 — 645>
(2y + 5x)(2y — bx) | 2y | 52 | 44® | 2522 4y? 252>
(6s + 8r)(6s — 8r) | 6s | 8r | 365% | 6412 3652 — 6412

3)

Fill in the blank cells with the correct terms, as shown in the example. a and b stand

for a and b in (a + b)(a — b).

formula a|b|a®| b? | expanded form
(r+s)(r—s) | r|s| | s r2—s?
(20+7)(20 —7) | 20 | » | 400 | r? 40072
(x+y)(x—y) |z|y | 22| 22 —y?
(r+9)(r—9) [+ 9] 2|81 r2—81
(s+r)s—71) | s |r | s | 212
(194+7r)(19—17) | 19| » | 361 | 2 36112
(x+3)(x—3) [« |3 ]a%] 9 29
(r+15)(r—15) | » | 15| 2 | 225 r2—225
O+2)9—x) | 9| = | 81 | a2 81—z2
(x4+15)(x —15) | = | 15| 2® | 225 22 —225

4)

Fill in the blank cells with the correct terms, as shown in the example. a and b stand
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Solutions to smp-7596-3/NAML

for a and b in (a + b)? or (a — b)?. Hint: All numbers are positive.

formula a | b| a? b? 2ab expanded form

(105 — 87) | 10s | 8r | 100s> | 6472 | 2:10s8r=160rs | 64r>—160rs+100s>
(6y + 733)2 6y | 7z | 36y% | 4922 | 2-6yTx=84zy | 4922+84xy+36y>
(10y — 5:5)2 10y | 5z | 100y% | 2522 | 2:10y52=100zy | 2522—1002y+100y2
(4x — Sy)2 4z | 3y | 1622 | 9y? | 2-4a3y=24xy 1622 —242y+9y>
(6s + 37’)2 6s | 3r | 36s% | 9r2 | 2:6s3r=36rs 9r2+36rs+36s>
(27‘ + 38)2 2r | 3s 4r? 952 2:2r3s=12rs 4r24+12rs+9s2
(5x — 9y)2 5¢ | 9y | 25x% | 81y% | 2-5x9y=90zy 2522 —90zy+81%>
(6y + 695)2 6y | 6z | 36y% | 3622 | 2:6y6z=T2zy | 3622+T72zy+361>
(5y + 633)2 5y | 62 | 25y% | 3622 | 2:5y6x=60xy | 3622+60xy+25y2
(77“ — 78)2 Tr | 7s | 49r% | 4952 2-7r7s=98rs 4972 —98rs+49s2

Good Luck!
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